
Time: 10 Minutes Paper G.Scince 4th (T-5) Total Marks: 10

2nd Month, 4th Week, 5th Day Unit No 2: Revision Chp # 2 (Complete) + Weekly Test

Q.No.1. Encircle the correct answers from the following choices. (5x1=5)


(i) What is an ecosystem? 
(a) System of non-living thing is an environment 
(b) Area having a group of living and dead things 
(c) System of living things in an environment 
(d) collection of a biotic and biotic components in an area. 
(ii) All the biotic components are: 
(a) animals  (b) producers 
(c) living things  (d) non-living things 

(iii) Food chain: 
(a) begins at a producer  (b) begins at a consumer 
(c) begins at a decomposer  (d) ends at a producer      
(iv) For the conservation of ecosystem: 
(a) forests are being cut  (b) roads are being built  
(c) tree plantation is being done  (d) factories are being installed 
(v) To control the population of insects if insecticides are used then the
population of birds will:  
(a) increases  (b) decreases 
(c) decrease first then will increase


(d) increse first, then will decrease


Q.No.2. Write the short answers. (2.5 × 2 = 5) 
(i) Define environment. 

(ii)Write two human activities which are affecting the ecosystem.


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